

سوال ۱

$$f(x) = \left(\frac{1}{x}\right)^{x-2} - 1$$

$$y = \sqrt{x^3 f(x+1)} \Rightarrow \sqrt{x^3 \left(\frac{1}{x+1}\right)^{x-1} - 1}$$

$$\frac{1}{x} - 1 = 0 \Rightarrow \frac{1}{x} = 1 \Rightarrow x - 1 = 0 \Rightarrow x = 1$$

$$-\frac{1}{0} + \frac{1}{1} = -\infty + 1 = -\infty$$

سوال ۲

$$f(x) = \sqrt{x+|x+2|}$$

$$f(-x) = \sqrt{-x+|2-x|}$$

$$-x+2 \geq 0 \Rightarrow x \leq 2$$

$$x < 2$$

$$x > 2 \Rightarrow \sqrt{2-x} \Rightarrow 2-x \geq 0 \Rightarrow x \leq 2 \Rightarrow x > 2 \Rightarrow 1 > 2 \Rightarrow (-\infty, 1]$$

سوال ۳

$$y = \sqrt{\frac{x-1}{f(x)}}$$

$$\frac{x-1}{f(x)} \geq 0$$

$x-1$	-	0	+	+	+
$f(x)$	+	0	-	+	+
	-	0	-	+	+

$$\Rightarrow D_f = (-\infty, 1] \cup (2, 3)$$

سوال ۴

$$D_1 = \frac{1}{9x^2 - 4x^2 - 4x - 3}$$

$$D_2 = \frac{1}{x^2 + a + b} \Rightarrow D_{\text{مجموع}} = \mathbb{R} \setminus \{ \text{محل های } x \}$$

$$9x^2 - 4x^2 - 4x - 3 = 5x^2 - 4x - 3 = (5x^2 - 4x + 1) - (x+2) = 0 \Rightarrow 5x^2 - 1 = x+2$$

$$\Rightarrow 5x^2 - x - 3 = 0 \Rightarrow a = -1, b = -3 \Rightarrow \sqrt{-(-1-3)} = \sqrt{4} = 2$$

سوال ۵

$$f(x) = x^3 + x$$

$$y = \sqrt{f(x) - f\left(\frac{x}{n}\right)}$$

$$y = \sqrt{x^3 + x - \frac{9x^3}{n^3} - \frac{x}{n}}$$

$$x^3 + x - \frac{9x^3}{n^3} - \frac{x}{n} \geq 0 \Rightarrow x^3(1 - \frac{9}{n^3}) + x(1 - \frac{1}{n}) \geq 0$$

$$(x^3 + x)(1 - \frac{1}{n}) \geq 0 \Rightarrow x^3 + x \geq 0 \Rightarrow x(x^2 + 1) \geq 0 \Rightarrow x \geq 0$$

$$D_f = [0, +\infty)$$

سوال ۶

$$f(x) = x^3 - 4x^2 + 12x$$

$$f(2) \rightarrow x=1 \Rightarrow 2(1)^3 - 4(1)^2 + 12(1) = 10$$

$$f(1) \rightarrow x=2 \Rightarrow 2(2)^3 - 4(2)^2 + 12(2) = 16$$

$$\rightarrow f(2) + f(1) = 10 + 16 = 26$$

سوال ۷

$$f(x) = x^3 - 4x^2 + 12x$$

$$g(x) = x^3 + 9x^2 + 27x$$

$$\frac{g(\sqrt[3]{2} - 3)}{f(\sqrt[3]{2} + 2)}$$

$$\Rightarrow \frac{(2 - 9\sqrt[3]{2} + 27) - 27}{(2 + 12\sqrt[3]{2} + 18) + 18} = \frac{-20}{10} = -2$$

سوال ۸

$$f(x) = \sqrt{x+2} \sqrt{x-2}$$

$$g(x) = \sqrt{x-2} \sqrt{x-2}$$

$$f(x) + g(x) = a + b \sqrt{x+c}$$

$$\sqrt{x+2} \sqrt{x-2} + \sqrt{x-2} \sqrt{x-2} = \sqrt{x-2} (\sqrt{x+2} + \sqrt{x-2})$$

$$\sqrt{x-2} (\sqrt{x+2} + \sqrt{x-2}) = \sqrt{x-2} (\sqrt{x+2} + \sqrt{x-2})$$

$$\Rightarrow a = 0, b = 2, c = -2$$

$$f(x) = \frac{x+2}{x^2-4x+3}, \quad g(x) = \{(2,1), (1,0), (3,5), (0,4)\}$$

$$\frac{g}{f} = ?$$

سوال ۱۹

عضو دامنه $f(x) = (2, -4), (0, \frac{2}{3})$

$$\frac{g}{f} = \{(2, \frac{1}{-4}), (0, 4)\}$$

$$f(x) = \{(1, 2), (3, -1), (4, 2), (-1, 4)\}$$

سوال ۱۰

$$g(x) = \{(-2, 3), (1, -1), (3, 2), (-1, 0)\}$$

۱) $f(2x) = \{(\frac{1}{2}, 2), (\frac{3}{2}, -1), (2, 2), (-\frac{1}{2}, 4)\}$

۲) $f(x^2) = \{(\pm 1, 2), (\pm \sqrt{3}, -1), (\pm 2, 2)\}$

۳) $2g^2(x)+1 = \{(-2, 19), (1, 3), (3, 7), (-1, 1)\}$

۴) $\frac{2f}{g} = \{(1, -4), (3, -1)\}$